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* Type of questions

® 1- To know the rank of a personfw <k T {eh Ul il

® 2- Finding the total number of people/c_filli’l e RN AT IdT ShiHl

* 3- Finding the middle number/A&I T&AT T Shi]

N 0O

® 4- To find the rank of the person sitting between two persons/a A
& It T

® 5- Mutual change of rank/{eh ST STTYET SEATH

oh ofi<]
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® In a row Ajay is 19th from the right and 24th from the left, then what 1s the total
number?
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® Anubhav is 7th to the left of Rohan, who 1s 31st from the right. What 1s the rank

(place) of Anubliav from raht?
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® In a row of trees, a tree 1s 11th from the left and 16th from the right in the row. |

How many trees are there in this row? /_\
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* Kuldeep 1s 9th to the right of Shudhanshu who 1s 16th to the left of Shashank
who 1s 25th from the right. What 1s the position of Kuldeep from the left if the

total number 1 .
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® Hrithik 1s 6th from the top in his class, while Akshay 1s 18th from the bottom. If
their positions are interchanged, then Akshay's position becomes 15th from the
bottom. What 1s the number of students in the class?
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® In a class, Sheena's roll number 1s 8th from the top and Sushmit's roll number is
1 1th from the bottom. If there are 9 students between them, then what 1s the

total number of students in the class?
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® In a row of students, Rita 1s 11th from the right and Madhuri 1s 14th from the
left. Riya 1s exactly in the middle of Rita and Madhuri. If there are 16 students

in the row, then what is Riya's position_

Waﬁww&sﬁﬂmmﬁnﬁww%sﬁtwaﬁ (T4 T W R
T, € ST aredl o6 ek off=r | 21 Ffe Ui 4 16 %@Tﬁ%,?ﬁﬁmwwﬁw

T 27 s A gt
B.11™

MNIQERYNED \/‘m
19=9= @w%




® Manish 1s shifted four places to the right in a row of 21 men. Now he 1s 12th

from the left end. What was his position east from the right end of the row?
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* If Ashwin 1s to be found that he 1s twentieth from the left in a row of boys as
well as tenth from the right. Then how many more boys are included in the row
so that there are 50 boys 1n the row?
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* A, B, C, D, E and F each have different weights, D 1s heavier than B. C 1s
lighter than both F and D. C 1s heavier than A. F 1s heavier than A but lighter
than B. A 1s neither heaviest nor lightest. Who 1s the second lightest person

among them?
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* In a race, Gary runs faster than Jay. Neel runs faster than Jai. Sam runs slower |
than Gary. Who came first in the race?
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® Four friends A, B, C and D compare their heights. It 1s found that the height of
A 1s more than B but less than C. D's height 1s less than C but more than A.
Which of the following is true?
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* In a row of 50 students, A is 15th from the top. Then find the position of A
from below?
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® Eight friends M, N, O, P, Q, R, S and T have different numbers of toffees. P has
more toffees than R. Only two persons have less than O toffees. T has the
maximum number of toffees. N has less toffees than only one person. M has the

has the fourth least number of toffees? Py R Q\@ﬁ
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least number of toffees. Q has less toffees than R but more toffees than S. Who =
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® In a class, Sahil 1s more intelligent than Rajat. Sohan 1s more intelligent than

Rihan but less intelligent than Rajat. If Rohit 1s the most intelligent, then who
among the following is the second most intelligent student in the class?
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® In a row of 29 students, Q is 8th from the left and P is 14th from the right. Z 1s
exactly between Q and P. What 1s the position of Z from the right?
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® In a row of 44 students Q 1s 26th from the right and P 1s 25th from the left and
Z 1s exactly between Q and P. What 1s the position of Z from the left?
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